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Name Date
Commack High School
Regents Physics

Worksheet: Coulomb’s Law & Electric Fields

1. Two positive charges of 6.0X10® C are separated by a 0.50 meters. What
force exists between the charges?

2. A negative charge of 6.0X10° C exerts an attractive force of 64.8 N on a

second charge 0.05 meters away. What is the magnitude of the second
charge?
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3. A positive test charge of 8.0X10°C is placed in an electric field. It

experiences a force of 4.0X10>N. What is the intensity of the field at this
point?
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4. A negative charge of 2.0X103C experiences a force of 0.06 N when in an

electric field. What is the magnitude of the field intensity at the point where
the charge is located?
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